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(A) Ask them (o stand at the back in the class ‘
~_and punish them

(B) Give noattention on them - I
 Observe them continuously by assigning |
them small projects '
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10._ Sneha correctly remembers that her father’s
birthday is before 16" June but after 117 June
'WW her  younger  brother correctly
bers that their father's birthday Is after

but before 18" June and her elder

(3) I6"'
(D) Data inadequate

vﬁwamamem
WA 13 qa-‘-&mﬁhmw

gagron.in




der the following: stack implemented

ooy PCAd I Iea s,
ollowing Pie-chart and the
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on them.
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J}* ldentify the oldest phone hacking technique

used by hackers to make free calls?

(A) Phreaking (B) Cracking

(€) Spamming 48) Phishing

T O W &R dede o wear @t

o guamr gy WA ;
iy el T @ o

(A) wiifae (8) mfEy
(C) wifiyy P ffam

\1}- Choose the incorrect statement -

A I we declare uny variable as final, the value

of the variable ¢an be modified in final
(8) Finulize() is a method of java, which is
called by garbage collector thread before
__removing an object from the memory,
(€) 1f a method is declared us final, that method
cannot be overridden in sub class.
) If u class is declared final, 1t cannot be

mherited. If you do so it will give yéﬂ.l

compile-time error.

B af & R vaniable B final B a8
2 A vaniable 71 value B final method ¥

 modity fan o wam 2|
(B) Finalize() 91 &1 method &, s ¥d) &
ol sifeiae @1 gt A TS garbage
collector thread 17 call far wrar 21
& T S¥ method #1 subclass A override

M O B & @ A% compile-time eror

inherit =1 fa G W) af

ELT

- Which of the following memory is used 1

PROM  (B) Flash memor
memory (D) DVD

e 9 e o ), s ) T

(8 UVEPROM  (8) udter
) By (®) DVD.

.‘l 184%#855

:2)- Choose true statement .

118424855

118424855

118424855

\y)'m 1

I = Binary scarch is fuster than lincar scarch
I1'= Binary search may not be applied on all
the input lists on which lincar search can be

applied.
A Only | of8) Only 11
(D) Neither I nor 11

(€) Both Land 11

T ®YA $T TG B

=AY o, fSfas wd @ qorn & dar
21

=158 ¥4 99 ¥ g5ige fore W &r
TE A o wEd Ry oz i wd
sy e &

) FEE

(C) I der 11 =) O©amwmi1arHN

- Which of the following siatement is/are

ncorrect with respect 1o abstrict classes?

1. Subclasses of an abstract class that do not
provide animplementation of an abstract
method, wre also abstract,

11 Constructor and static methods cannot be
declared in abstract class.

1. Sometimies we can create objects directly.

iv. A method must always be redefined in a
subclass of abstract class.

(A) it and i1 {B) i, ii and iv

(C) i and v (D) i and i

Abstrict classes @ waw ¥ Frfafae § 9

Cop VAR DS RIS T 8

3. FRY) abstract class #1 subclass S0 ubstract
class ® AU BT implementation ST
A8 B & A€ N @ abswact B

ii. Abstract class @ constructor 317 static
method Bifte =@ e o s &)

iii. - T W aifwrae a aad )

iv, U@ abstract class 31 subclass ¥ method

1 g gAddrafa R s ity
(A) i 3 i (8) i, ii 3T iy
(C) i 3 iy (D) i 3% i

1188 - @

gagron.in

Page 50f 16




\‘ \\1&3
;:‘ 1 ‘L& N D

J L O r

gagron.in



gagron.in

[T e =




t be created
",el'm}‘)’lﬁasfbée T

!
el
v

COUR

iy

N\
é
Y P
9
O]
e

t
ATy

gagron.in



* Which of the following methods will ereate

= New string ("Hello Java);
(8) Only 11
Neither Inor 11
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Which of the following is not a system
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8. Wiliich of the following is a combinational logic

~ circuil that has 2% input lines and a single output
(A) Multiplexer x4 Démultiplexer
©Decoder  (0) Encodee
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